(ISt — S — ] T o — Enn]%é'?j%‘cﬁ'ﬁl

A\VJ AW sRat

IFLAI'BAJ\D Bl M6 ELTS YRR R

ERaER

PR R

0%

ISR ~<— (TPE)

98°C

ELTZZv FRAVE

A—=IN—=R TR T)Vb—

BARTSvY

#NH

Ty bRV —
F BERRIER LS —

R

ELZSv BNV E

ELZZv hRAVE

ED2AVE) | e i w
AIVb-Fybiazon
NV RAfK:SUS 430

ANy IV :SUS 304
A -FvbiSUS 304
NV FEREISUS 304

BUINY IV R T Ay F
RIVk - Fu b RTAyE
N RAfR D SPCC KT Ay F

REt

@RI

9012

" HilswW

Higkls - TS AM<— (TPE) ieigiEis - TSR MT— (TPE) #eigisifs : TS A b<— (TPE) I
[lﬁﬁ'?/l:l F1 [YouTube]

a1=sn0 | BEE | RIE | RE | B st c H A>F— | 1 A ATV LR KT X+ ATV L REBNA

m & TP | B | W | () |[AWE| BN (t) (W) m & m & m &
TP10110-0020 20 21 25 | 0.6 | W3/8 |M6x25| 27 | 68.6 1.2 28 |I0EX0% 200 TP10112-0020 TP10115-0020 TP10114-0020
TP10110-0025 25 2 25 | 0.6 | W3/8 | M6x25]| 27| 72.0 2.5 28 |I0E0% 200 TP10112-0025 TP10115-0025 TP10114-0025
TP10110-0030 30 40 25 | 0.6 | W3/8 |M6x25| 27 | 76.4 2.8 28 |16[@x10% 160 TP10112-0030 TP10115-0030 TP10114-0030
TP10110-0040 40 50 25 | 0.6 | W3/8 | M6x25]| 27 | 80.5 1.5 28 |UExI0% 140 TP10112-0040 TP10115-0040 TP10114-0040
TP10110-0050 50 63 25 | 0.6 | W3/8 |M6x25| 27 | 85.4 1.7 28 | I0E<0% 100 TP10112-0050 TP10115-0050 TP10114-0050
TP10110-0065 65 5 25 | 1.0 | W3/8 | M8x25|27 | 95.4 | 2.6 28 80 TP10112-0065 TP10115-0065 TP10114-0065
TP10110-0075 75 90 25 | 1.0 | W3/8 | M8x25|27101.8| 1.5 28 60 TP10112-0075 TP10115-0075 TP10114-0075
TP10110-0100 | 100 125 | 25 | 1.0 | W3/8 | M8x25| 27 [120.1| 2.5 28 30 TP10112-0100 TP10115-0100 TP10114-0100
TP10110-0125 | 125 160 | 32 | 1.5 | Wi1/2 [M10x35/ 45 | 163.4| 2.5 35 20 TP10112-0125 TP10115-0125 TP10114-0125
TP10110-0150 | 150 180 | 32 | 1.5 | W1/2 [M10x35] 45 [ 174.5| 2.5 35 15 TP10112-0150 TP10115-0150 TP10114-0150

NHfF ELZSwy bV F

= =
IFLAI'BAJ\D
BEEE

0%

IZSRAbR—

(TPE)

98°C

fEFRIR R

Fv bRIVE—
Fv hBEERALL AL A —

Y AL

ELTZZv bV E

ELTZy IV F

A—=IN—=R TR TIL—

BART SV

ELTZZv bV E

AIVb-Fybiazon
NV RAfE:ISUS 430

Rk +F+vbh:SUS 304
NV KA :SUS 304

RIVh - Fu b RTAvE
INY RAfR D SPCC KT A F

RZ t

TS BN

9013

g w

MagiEie : TSR < — (TPE) ieigiEis - TSRAM<— (TPE) #aigdsls : TS XA b<— (TPE)
[KE4~>ao— K] [YouTube]

1z=s0 R | GBS | RIE | ARE P AT c H A>F—| tilflg Ak ATV LA RTAy+ ATVLRBNA

& TP R W | © B:N (t) W) m & m & m &
TP10210-0020 20 21 25 | 0.6 20 |M6X20 | 47| 61.0 1.2 28 |@EN% 200 TP10211-0020 TP10215-0020 TP10214-0020
TP10210-0025 25 2 25 | 0.6 20 |M6X20 | 47 | 64.9 2.5 28 |10EN% 200 TP10211-0025 TP10215-0025 TP10214-0025
TP10210-0030 30 40 25 | 0.6 20 |M6X20 | 47 | 69.4 2.8 28 | 10fEx0% 160 TP10211-0030 TP10215-0030 TP10214-0030
TP10210-0040 40 50 25 | 0.6 20 |M6X20 | 47 | 73.1 1.5 28 | Ex10% 140 TP10211-0040 TP10215-0040 TP10214-0040
TP10210-0050 50 63 25 | 0.6 20 |M6x20 | 47| 79.9 1.7 28 |10fx10% 100 TP10211-0050 TP10215-0050 TP10214-0050
TP10210-0065 05 75 25 | 1.0 20 |M6X20 | 47 | 87.8 2.6 28 60 TP10211-0065 TP10215-0065 TP10214-0065
TP10210-0075 75 90 25 | 1.0 20 |M6X20 | 47| 94.2 1.5 28 50 TP10211-0075 TP10215-0075 TP10214-0075
TP10210-0100 100 125 25 | 1.0 20 |M6x20 | 47| 112.8| 2.5 28 30 TP10211-0100 TP10215-0100 TP10214-0100
TP10210-0125 125 160 32 | 1.5 25 [M10Xx35| 65| 148.5| 2.5 35 20 TP10211-0125 TP10215-0125 TP10214-0125
TP10210-0150 150 180 32 | 1.5 25 [M10x35) 65 | 158.5| 2.5 35 15 TP10211-0150 TP10215-0150 TP10214-0150

No
(9]



